















































































































JR2.9

a We skip this question m class

1h a 2 dimension case

A 2 2 Slutsky matrix is symmetric implies thet S2 52

Sir 發2 22步 二發 哿 二521

As X2piipziy is homogeneous of degree o

器 pit箱 B 哿y 0

哿 j 哿 Pit靠 R

substitute this backto Si
521 j y X11發 Pit筘 P21

illy x.pl哿 一樷叮

j Iㄨ212架 X1P2筘
Similarly forXi can derive j 箱1五十 p
substitute this backto 512

S2 j px靠 一Pixz 7

Aǎitàinià wMnt P x p影 1五箱 0

want Pr Pi 2 X2 1722拾 0

X2 Xi Xzp發 212 一Pix靠 Bxi發 o


















































































































This implies that Xzp Pix靠 Xzp 一 Ex發
y.siz y 521

512 521

b This question is actually saying that we
is enough for

the revealed preference relationship R
have no intransitive cycles when there are only 2 goods

Define p 是 1 X is chosen under p

p2 管 i X2 is Chosen

p 器 1 is chosen

Assure x is R.P.to
2

x 3 R.P.to x3

we want to show 3 is not R.p.to x1
i.e p3x3 p3x co

By assumption me have pij 品
㵘 品

Since one of the followmy statement must be true
p Lies in between P2PP3 P αp2 1 α p3 i

p2 p p3 p2 a p i a p3 i

p3 p p p αp cra p r

We can consider them one by one

Case I p ap2 1 α p


















































































































p x x3 p x x p X2
ㄨ3

p X x t ap2X2 3 i a p3x2x3
一石 器 台

so

This implies x is reveledpreferred to x3
By WARP we

hwePIiiPqwiw.euant to show
Case 2 p2 αp 1 αp3

As P X X P 一

普划 P𠿟
70

p2 X x αpi X x3 1 α p3 x x3 70

then we have to discuss thosetwotermsieneo

they at least one of them have古 be positme

if p'cx x so ByWARP.plx x3soifP3X x3 0 we dont care paix
P3 X 0

this is what weneed
So in this case We always have p3 x x3 so

Cases p3 αp i αp2
p 心

没篮 芯㗊孿 1學
Proof finished


















































































































JR210

How WARP farted to result in transitive revealed preferences
When there are more than two goods

a Show WARP Pㄨ sepox p'xesp'x

㸑意点点器定嚣
Sihee p'ㄨ 36 p'x 33 X is R Pt X

pox0 42 pox 48 WARPsatisfied for cx X'l
X x p'x 36 p2 2 27 22 1 56

p2x 48 p'x 40
Smee px 50 s px 48 x2 is R.P.to x

p'X2 4 s p'X 36 WARP satisfied for x x2

x x p 42 p2x2 50
pox 40 p 0 52

pox 42 pox 40 X is R.P t X2
p2X 50 p20 52 WARP is satisfied for x0x2

b x is R.p to X2 x2 is R.P.to x x is R.P.to x0
intransitive
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Suppose p M such that at least two bundles are
chosen under p.m

Assume x is one of the bundle chosen under p u
x2 is oneof the bundle Chosen under p2m

weanijii_Pnm.mx
m.x x

This implies that when x is chosen under p x2 is also
affordable

X is R.P.to x2
By wARP p2x2 ep2x i p'x impossible

X 犷


